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Q.1 Inthe given diagram, the circle stands for *graduates’, the rectangle stands for ‘school teachers’, and the triangle stands

for ‘married persons’. The numbers given in the different segments represent the number of persons in that category.

How many school teachers are either graduates or married persons but NOT both?

+——Married Persons

+— Graduates

Ans J1_ ]
<2 29

b
> o
bd
th n

Question ID : 6549789201
Status : Answered
Chosen Option : 2

Q.2 Two different positions of the same dice are shown. Select the number that will be at the top if ‘6’ is at the bottom.

X
: ( N
(NS T S T

Question ID : 6549789195
Status : Answered
Chosen Option : 3

Q.3 Select the option in which the numbers are related in the same way as are the
numbers of the following set.

{2! 2! 9}
Ans X" 1 (6, 18, 46}

o 2.{4,8, 25)
/< 3.{8,36,81)
/5 4.{12, 60, 98}

Question ID : 6549789181
Status : Not Answered
Chosen Option : --
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Q.4 Four letter-clusters have been given, out of which three are alike in some manner and
one is different. Select the letter-cluster that is different.

Ans  of 1 MIGF

KX 2. KMPV
75 3.HKPT
/5 4.BDMS

Question ID : 6549789192
Status : Not Answered
Chosen Option : --

Q.5 ‘Bracelet’ is related to ‘Ornaments’ in the same way as ‘Clove’ is related to ¢ .
Ans “ 1. Spices

75 2. Kitchen
x 3. Cooking

x 4. Taste

Question ID : 6549788380
Status : Answered
Chosen Option : 1

Q.6 Select the option that represents the letters that, when placed from left to right in the
blanks below, will complete the letter sequence correctly.

K_P_LC_R_CP_N_PR
Ans  of 1 CRPMRC

/X 2.CPPMRR
/X 3. ERPRRC

& 4 MRPMRR

Question ID : 6549788381
Status : Not Answered
Chosen Option : --

Q.7 Which two signs should be interchanged to make the given equation correct?

39+3x13+26-13=2
Ans x1. +and x

“2. +and —
X3. x and —
X4. +and —

Question ID : 6549788370
Status : Answered
Chosen Option : 2
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Q8 How many triangles are there in the following figure?

Ans X' 1. 24
V2 26
X3 22
X4 19

Chosen Option : 3

Question ID : 6549789197
Status : Answered

Q.9 Four numbers have been given, out of which three are alike in some manner and one
is different. Select the number that is different.

Ans 5" 1 1331

< 2.2197
/< 3.4913
o 42379

Chosen Option : 3

Question ID : 6549789183
Status : Answered

Q.10 %481 is distributed among A, B and C in such a way that B gets two-thirds of what A
gets and C gets three-fourths of what B gets. How much does B get?

Ans  of 1 2148

K 2.2222
/5 3.%168
K41

Chosen Option : 1

Question ID : 6549789177
Status : Answered

Q.11 Select the correct option that indicates the arrangement of the given words in a logical
and meaningful order.

1. Class

2. Admission
3. Certificate
4. Application
5. Assessment

Ans  of 142153
/K 23,5231
/K 3.4,251,3
K 4.2,4,31,5

Chosen Option : 1

Question ID : 6549789184
Status : Answered
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Q.12 Select the option in which the numbers in the set share the same relationship as the
numbers in the given set.

(14,22, 77)

Ans X" 1 (22,11, 86)
X 2.(17, 15, 76)
75 3.(20, 16, 105)
W 4.(18, 32, 144)

Question ID : 6549788372
Status : Not Answered
Chosen Option : --

Q.13 In a certain code language, BANKER is coded as 57 and SPAN is coded as 54. How will
PRANK be coded in that language?

Ans  of 1 65
K 2.69
/< 3.58
< 461

Question ID : 6549789186
Status : Answered
Chosen Option : 1

Q.14 If 'A + B' means 'A is the mother of B', 'A x B' means 'A is the sister of B', and 'A * B'
means 'A is the daughter of B, then how is R related to P in the following expression?

'‘R+VxQxM*P
Ans x 1. Mother

x 2. Sister
W 3. wife

x 4. Daughter

Question ID : 6549787574
Status : Answered
Chosen Option : 3

Q.15 Select the correct mirror image of the given combination when a mirror is placed on its right side.

46HSPY

T XKTA9eH9b
“2YdeHdbh
v:YQ2H3bd
X+YqQESHI¥

Question ID : 6549788392
Status : Answered
Chosen Option : 3
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Ans

Q.16  Select the option figure which contains figure X embedded in it as its part (rotation is NOT allowed).

L

Figure X

r R0 E-[X

©
B
5]

Question ID : 6549788390

Status : Answered

Chosen Option : 1

Ans

Q.17 Two statements are given, followed by three conclusions numbered I, Il and IIl.

Assuming the statements to be true, even if they seem to be at variance with
commonly known facts, decide which of the conclusions logically follow(s) from the
statements.

Statements:
All statements are answers.
Some statements are questions.

Conclusions:
I. No question is a statement.

Il. Some answers are statements.
lll. Some questions are statements.

\f 1. Only conclusions Il and IlI follow
x 2. Only conclusions | and lll follow
x 3. Only conclusions | and Il follow

x 4. Either conclusion | or Ill follows

Question ID : 6549788386

Status : Answered

Chosen Option : 1
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Q.18 Three of the following four words are alike in a certain way and one is different. Select
the odd one.

Ans X 1 Sadness

/5 2. Disgust

i 3. Contentment

X 4. Jealousy

Question ID : 6549788385
Status : Answered
Chosen Option : 4

Q.19 Select the option in which the words share the same relationship as that shared by the
given pair of words.

Necklace : Gold
Ans X" 1 Potter : Clay

x 2. Ocean : River

( 3. Paper : Wood pulp

x 4. Grass : Lawn

Question ID : 6549789191
Status : Answered
Chosen Option : 3

Q.20 In a code language, SAUCE is written as ASVEC. How will MEANT be written as in that
language?

Ans & 1 MEBTN
< 2.EMCTN
< 3.EMANT

o 4 EMBTN

Question ID : 6549788377
Status : Answered
Chosen Option : 3
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Q.21 Apiece of paper is folded and cut as shown below in the question figures. Select from the given answer figures, how it
will appear when unfolded.

Ans

Question ID : 6549788391
Status : Answered
Chosen Option : 2

Q.22 Select the option in which the numbers share the same relationship as that shared by
the given pair of numbers.

28:70
Ans  of 1 18:45

/< 2.34:86
K 3.12:32
/< 4.30:84

Question ID : 6549789179
Status : Not Answered
Chosen Option : --

Q.23 Select the number that can replace the question mark (?) in the following series.

35, 35, 33, 99, 95, 475, ?
Ans X' 1 481

K 2.476
& 3.501
of 4469

Question ID : 6549788374
Status : Answered
Chosen Option : 4
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Q24 gelect the figure that will come next in the following series.

TR
e
12
S
s

Ans

Question ID : 6549789196
Status : Not Answered
Chosen Option : --

Q.25 Select the option that is related to the third letter-cluster in the same way as the
second letter-cluster is related to the first letter-cluster.

NEED : OGHH : : FAST : ?
Ans X' 1 ECVZ

/5 2.GDUX

of 3.GCvx

K< 4.Gowy

Question ID : 6549788379
Status : Answered
Chosen Option : 3
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